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| RoutineA Diff || ] RoutineB 1 Diff | | | RoutineC . Diff
1 |Backsomi() i 0.6 | |1]|l/2twisttofrontdrop . 0.2 | |1|Backsomi(o) | . 0.5
2|Barani(0) i 0.6 | |2|Tofeet . 0.1 | |2 |Straddlejump
3 |Straddlejump i - | |3 |lU2twistjump i 0.1 | |3|Seatdrop
4 |Frontdrop T 01| |4|Straddlejump " - | |4[l/2twisttofeet 1 0.1
5|Tofeet 1 0.1 | |5|Backdrop i 0.1 | |5|Backdrop ;0.1
6 |Half twist jump 1 0.1 | |6|l/2twisttofeet 0.2 | |6|lU2twisttofeet @ 0.2
7seatdrop i - | |7|Tuckjump - | |7|Pikedjump
8 |Half twistto feet ! 0.1 | |8|Backsomi(o) 0.5 | |8|Backsomi(<) . 0.6
9 |Tuckjump &+ - | |9|Barani(0) . i 0.6 | |9 |Tuckjump ——
10|Frontsomi(o) i 0.5 | |10|Frontsomi(0) i 0.5 | |10|Frontsomi(<) . 0.6
1 2.1 2.3 121
By~ &3 g
| RoutineA Diff | RoutineB (Diff || RoutineC : Diff
1 |Backsomi(o) i 0.5 | |1|Backdrop i 0.1 | |1|l2twisttoseatdrop i 0.1
2 |Straddlejump i - | [2|l/2twisttofeet i 0.2 | |[2|l/2twisttoseatdrop i 0.1
3 |1/2 twist to seat drop | 01| |[3|Pikedjump i - | [3]i/2twisttofeet T 0.1
4 |12 twist to seat drop | 0.1 | |4]|Frontdrop i 0.1 | |4|Pikedjump
5 |12twisttofeet i 01| |5|Tofeet . 0.1 | |5 |l2twistto frontdrop : 0.2
6 |Backdrop i 01| |6|Seatdrop . - | |6|Tofeet 201
7 |U2twisttofeet i 0.2 | |7|Y2twisttofeet 0.1 | |7 |Straddlejump T
8 |12twistjump i 0.1 | |8|Tuckjump . - | |8|Backsomi(o) | . 0.5
9 |Tuckjump —t - | [9|Backsomi() i 0.6 | |9 |Tuckjump
10|Frontsomi(o) i 0.5 | |10|Barani(0) i 0.6 | |10|Backsomi(/) 106
L 1.7 1.8 117
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|._____RoutineA CDiff || RoutineB | Diff || RoutineC : Diff
1 |1/2twisttoseatdrop | 0.1 | |1|Backdrop ] 101 | |1|Frontdrop 101
2 |1/2twistto seatdrop 0.1 | |2|1/2twisttofeet 102 | |[2|toseatdrop 101
3 |12twisttofeet i 0.1 | |3|Straddlejump i - | |[3|Tofeet i -
4 |Frontdrop 1 0.1 | |4|Y2twistjump i 0.1 | |4 |Straddlejump
5|Tofeet 1 0.1 | |5|Pikedjump - | |5|l2twisttoseatdrop i 0.1
6 |12 twistjump i 0.1 | |6]|Seatdrop i - | |6|l2twisttoseatdrop i 0.1
7Seatdrop i - | |7 |U2twisttoseatdrop 0.1 | |7 |l2twisttofeet | 0.1
8|Tofeet i - | |8|Tofeet i - | [8|Y2twistjump | 0.1
9 |Backdrop 01| [9|Tuckjump - [9[Tuckjump
10|Tofeet 101 | [10|Fulltwist 702 | [10[Fulltwist 102
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